Resuelve las siguientes integrales indefinidas utilizando el método de
integracion por partes:
a) Iln Xax

b) jxln Xdx
c) j xe*dx

d) szexdx
e) j arcsenxdx
f) j e*senxdx

1)) szsenxdx

Solucion
u=Ilnx = du—d—X dx
a) J.Inxdx= B % :xlnx—jx—=xlnx—fdx=
dv=dx =»> v=xXx X
=XInx—-x+C
u=lnhx = du:d—x 2 1 dx
b) jxlnxdx: )2( =" |Inx-=|x*=2=
X 2 X
dv=xdx = v:7
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c) _[xexdx: w=x = U= :xex—jexdx:xex—ex+C
dv=e’dx = v=e*

_ 2 _
d) '[xzexdx=( u=x du_ZXdX]zxzex—ijexdx:

=

dv=e*dx = v=e*
u=x = du=dx X « <

= =X‘e —2[xe —'[e dx]:
dv=e*dx = v=¢e*

= x%* —2xe* +2'[exdx = x%* —2xe* +2e*+C



dx
) 4 u=arcsenx = du= — X4
e jarcsenx X = — = Xarcsenx — I ———dx =
1-x #1— )
dv =dx = V=X

_ = — 2
:xarcsenx—jx(l—xz)l/zdx:(di 12Xd ]:
— _2xdX
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= Xarcsenx +§It‘1/2dt = Xarcsenx + ———+C =

21/2

12
= Xarcsenx +(1— x2) +C = xarcsenx +v1-x% +C

f)jexsenxdx{ u=e du=e dxj:—exc05X+Iexcosxdx=

=
dv=senxdx = v=-cosXx
=

[ u=¢ du =e*dx
dv=cosxdx = v=senx

=—e*cos X +e*senx —jexsenxdx
= Zjexsenxdx =—e%cos X +e*senx

e*(senx —cos x)

:jexsenxdx = +C
2
— 2 e
g)j x2senxdx =| U7X = du=2xdx)_ —x%cos x+2f X €os Xdx =
dv=senxdx = Vv=-c0SX
=

B u=Xx du =dx
“|ldv=cosxdx = v =senx

= —Xx%C0S X + 2 Xsenx — ZI senxdx =

=—X2C0S X +2xsenx +2¢cos X +C






